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Course Code 


: 
BCS-040 
Course Title 


: 
Statistical Techniques  

Assignment Number 

: 
BCA(IV)-040/Assignment/2013 
Maximum Marks 

: 
100
Weightage


:
25% 
Last Date of Submission 

: 
15th April, 2013/15th October, 2013

Note: This assignment has six questions of 80 marks (each section of a question carries same marks). Answer all the questions. Rest 20 marks are for viva voce. You may use illustrations and diagrams to enhance explanations. Please go through the guidelines regarding assignments given in the Programme Guide for the format of presentation. 

Q1
In a study on the cost living index for a particular year in a city, the following weekly observations were made.

	Cost of living index(Rs.)
	140-150
	150-160
	160-170
	170-180
	180-190
	190-200

	Number of Weeks
	5
	10
	20
	9
	6
	2


Draw a histogram and a frequency polygon on the same scale



          (10)
Q2
The following table gives the distribution of students and also regular players among them, according to age groups. Is there any correlation between ages and playing habits?


          (15)
	Age of groups(Years)
	15-16
	16-17
	17-18
	18-19
	19-20
	20-21

	Number of Students
	200
	270
	340
	360
	400
	300

	Number of Regular players
	150
	152
	170
	180
	180
	120


Q3
Following data are given for marks in subject A and B in a certain examination :

           (15)
	
	SUBJECT A
	SUBJECT B

	MEAN MARKS
	36
	85

	STANDARD DEVIATION
	11
	8



Coefficient of correlation between A and B = ±0.66






i)  Determine the two equations of regression





ii) Calculate the expected marks in A corresponding to 75 marks obtained in B.

Q4
A drilling machine bores holes with a mean deviation of 0.5230 cm and a standard deviation of 0.0032 cm. Calculate 2-sigma and 3-sigma upper and lower control limits for means of samples 4 and prepare a control chart.









(15)
Q5. 
Construct 5- yearly moving averages from the following data




(10)
	YEAR
	2000
	2001
	2002
	2003
	2004
	2005
	2006
	2007
	2008
	2009
	2010
	2011
	2012

	SALE
	105
	107
	109
	112
	114
	116
	118
	121
	123
	124
	125
	127
	129


Q6
In 120 throws of a single dice, following distribution of faces was observed.


(15)
	FACES
	1
	2
	3
	4
	5
	6
	TOTAL

	F0
	30
	25
	18
	10
	22
	15
	120



From the given data, verify that the hypothesis “dice is biased” is acceptable or not.

Course Code 


: 
MCS-024 
Course Title


: 
Object Oriented Technologies and Java Programming 
Assignment Number 

: 
BCA (IV)/024/Assignment/2013 
Assignment Marks
 
:
 100 
Maximum Marks 

: 
25% 
Last Dates for Submission 
: 
15th April, 2013/15th October, 2013

There are eight questions in this assignment which carried 80 marks. Rest 20 marks are for viva-voce. Answer all the questions. Also in your programs give appropriate comments to increase understandability. You are advised to go through the guidelines regarding assignments given in the Program Guide for the format of presentation. 

Question 1: a) What is Object Oriented Paradigm? Explain advantages of 

Object Oriented Programming. 



(5 Marks) 

       b) What is polymorphism? Explain the advantages of polymorphism 

with an example. 




(5 Marks) 

Question 2: a)  What is platform independence? Explain why java is secure 

and platform independent. 



(3 Marks) 

b) Write a program in java to generate Fibonnaci Series. 
(3 Marks) 

c) Explain the advantage of of Unicode. 


(2 Marks) 

d) Explain the significance of PATH and CLASS PATH. 
(2 Marks) 

Question 3: a) What is an exception? Create an exception subclass named 

MyException to handle user generate exceptions in Java. 
(5 Marks) 

b) What is abstract class? What are advantages of using 

abstract class? Write a program in Java to explain abstract 

class and multilevel inheritance. 


(5 Marks) 

Question 4: Differentiate the following and support with example: 
(10 Marks) 

Final and static member 

Inheritance and Aggregation 

Abstract class and Interface 

String and String Buffer 

Question 5: a)  What are the classes in Java available for file handling? 

Write a program in Java to append content at the end of an 

already existing file.




(5 Marks)  

b)  Explain the difference between checked and unchecked 

exceptions with example. 



(5 Marks) 

Question 6: a) 
What is multithreading? Explain the two ways of creating 

threads in Java programs. Also explain difference between 

notify() and notify All( ) methods. 


(5 Marks) 

                   b) 
What is need of Layout Manager? Explain different layouts 

available in Java. 




(5 Marks) 

Question 7: a)  What is an Applet? Write an applet that prints "Lear Java it is 

useful" at the current cursor position whenever the mouse left 

button is clicked. 




(5 Marks) 

       b)   Consider a class that stores a Bank account holder's name, 

account number, ATM card number, account balance and 

ATM PIN. Write a program to store the data onto a disk file, 

except for the account balance and ATM PIN. Use serialization 
and transient variables. 




(5 Marks) 

Question 8: a) 
Write a Java program to set up JDBC and execute the following 

SQL statement on a database table employee-t with the fields 

emp-id, emp name, emp-department, empbasic 

"SELECT * FROM employee-t where emp-basic < 10000. (7 Marks) 

b) What is Java Bean ? What are its advantages? 
(3 Marks)

Course Code


:
BCS-041

Course Title


:
Fundamentals of Computer Networks 
    Assignment Number

:
BCA(IV)/Assignment/2013
Maximum Marks

:
100


Weightage


:
25%

Last Dates for Submission
:
15th April, 2013/15th October, 2013

There are four questions in this assignment, which carries 80 marks. Rest 20 marks are for viva voce.  You may use illustrations and diagrams to enhance the explanations.  Please go through the guidelines regarding assignments given in the Programme Guide for the format of presentation.  Answer to each part of the question should be confined to about 300 words. 

1 (a)
Compare and contrast between analog and digital communication.
(3 Marks)

  (b)
What are layers in the OSI Model? Discuss the main functions and services of each layer?
(7 Marks)

  (c)

How Cyclic Redundancy Check (CRC) is used in error-detection? Explain using an example, where Message bits M=1010101010 and Generator bits G=10001.

(6 Marks)

  (d)
What is the need of multiplexing channels? What kinds of techniques are used for multiplexing 


channels?

(4 Marks)

2 (a)
Explain the working of Distance Vector Routing using an example. Also, discuss the Count to Infinity Problem.
(6 Marks)

  (b)
What are the various transmission media available? State advantage and disadvantages of each.
(8 Marks)

  (c) 
Differentiate between the packet switching and Circuit Switching.
(4 Marks)

  (d)
Explain the process of sampling used digital communication.
(2 Marks)

3 (a)
Why are multiple accesses required in LAN technologies? Compare different multiple accesses techniques.
(8 Marks)

  (b)
Compare the throughput of pure and slotted ALOHA.
(2 Marks)

  (c) 
Discuss advantages and disadvantages of Bus, Ring and Mesh topologies.
(8 Marks)

 (d)

Why does ATM use small fixed size cell? Justify your answer.
(2 Marks)

4(a)

Compare and contrast flow control and error control in data transmission. Also, suggest the solutions for each.
         (8 Marks)

 (b)

Assume two prime numbers p=251 and q= 257. Use RSA algorithm to calculate encryption key and decryption key. Write all intermediate steps in calculation.












         (6 Marks)

 (c)
Write the steps used in connecting two computers by cross-over cable?
         (4 Marks)

 (d)
Discuss the disadvantages of CDMA in wireless communication.

         (2 Marks)

Course Code


:
BCS-042
Course Title


:
Introduction to Algorithm Design
Assignment Number

:
BCA(4)/042/Assignment/2013

Maximum Marks

:
100


Weightage


:
25%

Last Dates for Submission
:
15th April, 2013/15th October, 2013

There are nine questions in this assignment, which carries 80 marks. Rest 20 marks are for viva-voce. Answer all the questions. Please go through the guidelines regarding assignments given in the Programme Guide for the format of presentation.  
Question 1:
List the basic asymptotic efficiency classes and briefly explain with examples. (For example, log n is an asymptotic classes which is named as logarithmic).









(10 Marks)
Question 2:
Write a binary search algorithm and apply it to the following array of numbers to search for K=45.






(15 Marks)

	5
	20
	30
	35
	40
	45
	50
	70
	90
	110



Write a recurrence relation and time complexity for a binary search algorithm.

Question 3:
Explain the following terms:




(6 Marks)

(a) Asymptote
(b) Worst case
(c) Best case  (d) Average case  

(e) Tight bound  (f) Upper bound  (g) Loose Bound 

Question 4:
Explain the operation of Merge sort algorithm with the help of the following example.







(10 Marks)


7  6   4   8   15   12   3   16

Question 5:
List the four basic fundamental techniques, which are used to design an algorithm efficiently with brief explanation for each.


(10 Marks)
Question 6:
Use the most appropriate notation among 0, Ө, Ω to indicate the time efficiency.










(4 Marks)

Question 7:
What are applications of spanning tree. Write a Prim’s algorithm to find a minimum cost of a spanning tree and show its operation through an example. 










(10 Marks)

Question 8:
What is “Greedy algorithm”? Write its pseudo code.

(10 Marks)
Question 9:
What is complexity of graph search algorithms if a graph is represented by adjancy matrix and adjancy list.





(5 Marks)
Course Code 


: 
MCSL-016 
Course Title 


: 
Internet Concepts and Web design (Lab Course) 
Assignment Number 

:
 BCA(IV)/L016/Assignment/2013 
Maximum Marks 

: 
50 
Weightage


: 
25% 
Last Dates for Submission
: 
15th April, 2013/15th October, 2013

This assignment has one question. Question carries 40 marks. Rest 10 marks are for viva voce. You may use illustrations and diagrams to enhance the explanations. Please go through the guidelines regarding assignments given in the Programme Guide for the format of presentation. Submit the screenshots also along with the coding and documentation. 
Question 1: Answer the following questions: 
(i) Create your own web page using HTML tags only. Your web page must include 

a. Your Photograph in the upper right corner 

b. Two tables showing your qualifications so far starting from 10th. This table should provide a link to the School/ College/ University website that you have attended. 

c. A point wise list about your strengths 

d. Insert your career objective in a frame. 

e. Provide link to some Universities where you propose to do higher studies. 

(ii) Create a Form asking feedback about your webpage. On submission of the form you should output a thank you message for submitting the form. Use JavaScript to check if any mandatory information is unfilled in the Form. Also the message should be displayed by the JavaScript. 

(iii) Write a program using VB script that displays the multiplication of two matrices of size 2 * 2 

(iv) Design a web page which displays a pulled down menu: 

Introduction 

Objectives 

Video Show 

References 

Each of this menu option should link to a different page. All the pages should include the current date and time.
Course Code


:
BCSL-043

Title



:
Java Programming Lab 

Assignment Number

:
BCA(IV)/BCSL-043/Assignment/2013

Maximum Marks

:
50


Weightage


:
25%

Last date of Submission
:
15th April, 2013/15th October, 2013

Note: This assignment has three questions. Answer all the questions. These questions carry 40 marks. Rest 10 marks are for viva voce.  You may use illustrations and diagrams to enhance the explanation.  Please go through the guidelines regarding the assignments given in the programme guide for the format of presentation.  

Question 1:                    
Create an account class in Java. Inherit Saving_Account and  Fixed_Deposit_ Account classes from Account class. Define proper constructors, destructors and functions to operate the accounts. Also override methods to operate on these specific accounts as per need.  


(20 Marks)

Question 2:                    
Write a program in Java to create a file to store details of students in BCA –IV semester at your study Centre.                                                                                                                 

(10 Marks)
Question 3:                    
Write a program in Java to create an applet which generate the table of a given number.        (10 Marks)
Course Code


:
BCSL-044
Course Title


:
Statistical Techniques Lab 

Assignment Number

:
BCA(IV)/044/Assignment/2013

Maximum Marks

:
50


Weightage


:
 25%
Last Dates for Submission
:
15th April, 2013/15th October, 2013

There are six questions in this assignment, which carries 40 marks. Rest 10 marks are for viva-voce. Answer all the questions. Please go through the guidelines regarding assignments given in the Programme Guide for the format of presentation.  
All the following questions must be answered using a statistical package. You may use any statistical package for this purpose.
Question 1:
The total scores X obtained by 50 students in Statistical Technique test of 100 marks are given below:







(6 Marks)
	80
	90
	85
	55
	40
	50
	40
	95
	81
	82

	75
	70
	80
	40
	10
	55
	30
	80
	80
	72

	27
	95
	20
	30
	85
	10
	40
	23
	75
	60

	50
	30
	10
	10
	90
	15
	20
	40
	70
	65

	45
	50
	40
	10
	90
	20
	25
	42
	70
	70


(i) Enter the formula for finding the minimum and maximum scores.

(ii) Draw a frequency distribution using descriptive statistics. 

(iii) Find the percentage of students, who scored above the pass marks of 50. 

(iv) Find the number of students, who scored between 50 and 80? 

Question 2:
A canned juice company wants to determine the mean weight of a can of canned juice. It takes a random sample of 80 such cans (from several thousand cans in its warehouse) and finds that the mean weight is 201.15 grams and the standard deviation is 0.56 grams 








(6 Marks)
Find a 95% confidence interval for the mean weight of the cans in the firm warehouse. 

Question 3:
A chemical firm wants to determine how four catalysts differ in yield. The firm runs the experiment in eight of its plants type. In each plant, the yield is measured with each catalyst. The yield (in Quintals) is as follows: 











(10 Marks)
	Plant
	Catalyst

	
	1

	2
	3
	4

	A
	2
	1
	2
	4

	B
	3
	2
	1
	3

	C
	1
	3
	3
	1

	D
	5
	4
	3
	2

	E
	1
	2
	4
	3

	F
	2
	1
	1
	2

	G
	4
	3
	4
	2

	H
	3
	1
	4
	3


Perform an ANOVA using any software and comment whether yield due to a particular catalyst is significant or not at 5% level of significance. Make suitable assumptions, if any.
Question 4: 
The sales figure of a textile company is given below. Use software to find the moving averages for the length of 5. 





(6 Marks)
	Day
	Sales

	1

2

3

4

5

6

7

8

9

10

11

12

13

14

15
	230

200

250

300

200

225

400

450

415

420

500

300

400

300

315


Question 5: 
A company manufactures pipes of small diameter. Five observations of diameters of the pipe produced were taken periodically. The following table gives the average of these 5 observations, taken 12 times during a working day. Calculate the control limits for mean and range, and plot the control charts using any statistical software.  










(6 Marks)
The data is given below in the following table: 

	Sample No.
	Sample values
	Sample mean

	1 

2 

3 

4 

5 

6 

7 

8 

9 

10 

11 

12 


	4.06, 4.08, 4.08, 4.08, 4.10 

4.10, 4.10, 4.12, 4.12, 4.12 

4.06, 4.06, 4.08, 4.10, 4.12 

4.06, 4.08, 4.08, 4.10, 4.12 

4.08, 4.10, 4.12, 4.12, 4.12 

4.08, 4.10, 4.10, 4.10, 4.12 

4.06, 4.08, 4.08, 4.10, 4.12 

4.08, 4.08, 4.10, 4.10, 4.12 

4.06, 4.08, 4.10, 4.12, 4.14 

4.06, 4.08, 4.10, 4.12, 4.16 

4.12, 4.14, 4.14, 4.14, 4.16 

4.14, 4.14, 4.16, 4.16, 4.16 


	4.08 

4.112 

4.084 

4.088 

4.108 

4.100 

4.088 

4.096 

4.100 

4.104 

4.140 

4.152 




 (d2 = 2.326, d3 = 0,  d4 = 2.11, A2 = 0.58)

Question 6 : 
Fit a linear trend using any statistical software to the data collected in a unit manufacturing umbrellas, given in the following table.
(6  Marks)
	Month
	1
	2
	3
	4
	5
	6

	Demand
	46
	56
	54
	43
	57
	56


Course Code


:
BCSL-045

Course Title


:
Introduction to Algorithm Design Lab

Assignment Number

:
BCA (IV)/045/Assignment/2013

Maximum Marks

:
50

Weightage


:
25%

Last Dates for Submission
:
15th April, 2013/15th October, 2013

There are six questions in this assignment, which carries 40 marks. Rest 10 marks are for viva-voce. Answer all the questions. Please go through the guidelines regarding assignments given in the Programme Guide for the format of presentation.

Q. 1 Write and run the following programmes in C-language and calculate its total time complexity.

(i) Generate a Fibonaci series of 10 numbers.










(6 marks)
(ii) Find the largest number in an array. 











(6 marks)
(iii) Find GCD of two positive integers X and Y.










(6 marks)
Q.2  Show how the following matrices should be multiplied using Strassen’s algorithm.



X = 
[image: image1.wmf]3216
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     and  Y = 
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(5 marks)

Q.3  Find out O (big O)  notation for the following function. 



f (n) = 6n2 + 7
















(3 marks)

Q.4 Find out Ω (big omega) notation for the following function.



f (n) = 15n2 +5n















(3 marks)

Q.5 Find out θ (big theta) notation for the following function.

            

F (n) = 15n2 + 5n














(3 marks)
Q.6 Write and run Quicksort programme and count number of exchange operations in  the programme. Apply  the  programme for the following 8-element  array and show the step by step output.

	6
	3
	2
	8
	12
	11
	9
	10























(8 marks)

BCA/ASSIGN/IV/YEAR/2013
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